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1.

In the circuit of Fig.1, D and D, have different cross section areas but are otherwise identical.
Determine the current flowing through each diode.
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2. Asshown in Fig. 2, find Rj,, Rou and Av of Common-Source by using small signal model (A #
0) (20%)
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Fig. 2

3. As shown in Fig. 3, find Rjn, Ryt and Av of Common-Source with Rg circuit by using small
signal model (A#0). (20%)
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4. As shown in Fig. 4, find Rj,, Rowt and Av of Common-Gate circuit by using small signal model
(A =0). (20%) |
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5. Asshown in Fig. 5, find Rj,, Roy and Av of Source-Follower circuit by using small signal model
(A=0). (20%)
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